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BCQ/M-23 14024

INCOME TAX
Paper-BC-301

Time : Three Hours] [Maximum Marks : 80

Note : Attempt five questions in all, selecting at least one question
but not more than two questions from each unit.

Ae : TUF THE U FH Y FH THh IR AfUE 9 afuw @
T 0 U, HA U YT Hifw

UNIT-I (3ehtE-1)

1.  Write short notes on the following :
(a) Partly Agricultural Income.
(b) Features of Income.
(c) Assessee.
(d) Tax Planning. (4%x4=16)
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2. How is the residence of assessees determined for income
tax purposes ? Explain the incidence of residence on tax
liability. 16

ST & fau FweErast &1 fam-tue 9 fuia fem
ST 27 M-t # %R I | Ted 9 9R
(9919) T IR H

3.  Write short notes on the following :
(a) Death cum Retirement Gratuity. 8
(b) Encashment of Earned Leave. 8
(F) 9 A STTHET TS0 J=E |

(@) AN T TR

4. Mr. X is the owner of a house. Particulars in respect of this
house for the year ending 31st March, 2020 are as follows :

)
Actual Rent Received 45,000
Fair Rental Value 44,500
Municipal valuation 44,000
Total Municipal tax 4,500
Municipal tax paid by Mr. X 2,250
Municipal tax paid by tanent 2,250
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Interest on loan for renewal of the house 3,350

Unrealised rent allowed in assessment
year 2017-18, recovered in the previous
year 2019-20 20,000

Compute income from house property for the assessment
year 2020-21. 16

M X TH TEE H @E gl 31 A6, 2020 F GEE oH
e 99 ® fau T9 gEE w1 I W YRR T

()
or&dfaeh g foRdEn 45,000
Sfea feua g 44,500
TR Heeh 44,000
el TRAfeTRT T 4,500
ft X g FHRET T TRANART T 2,250
TRUERR g gmEl T TRUIAHT T 2,250

kM & TR0 % AU 9 RO WSS 3,350

FH-fruior ad 2017-18 & fika T o
gl foRem @ aW 2019-20 H W@ I 20,000

H-Fuitor a9 2020-21 & fau qm wwfa @ 84 ot
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UNIT-II ( 3ehtE-11 )

S.  What expenses are allowed while computing taxable profits
of a business ? 16

T qa9E F FE A F T FE GHT HA-HA
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6. (a) Explain capital gains exempt from tax. 8

(b) From the following information, compute income from
other sources :

(1 T 1,00,000 received by the assessee from his

friends on the occasion of the marriage of his son.
(i) Undisclosed income 3 2,00,000.
(i) Winning from lottery (Net) I 70,000.

(iv) Interest on Post Office Savings Bank Account
3 4,000.

(v) Annual family pension I 60,000 . 8
(%) ®F gSit Hl HT = H
(@) f= goell & SR W o= 9l 9 o™ &

TOET A
() HEA H AW YA & foaw W oW =i o
Z 1,00,000 faeil

(i) AYHRfeT ™ T 2,00,000.
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(i) @ ¥ Sid (FS) T 70,000.

(iv) SHER ® FOd d% @ W SN T 4,000.

(v) @ Tiiaie 99 T 60,000.
7. Discuss the provisions regarding following deductions from

gross total income :

(a) Section 80 G. 10
(b) Section 80 QQB. 6

Thdd wA oM@ § ¥ faem ol e R ® gy o
YU T == A
(+) ¥ 80 G.

(@) a0 80 QQB.
UNIT-III ( $ehT3-111 )

8.  What are the provisions regarding set-off of losses and carry
forward of losses under the Income Tax Act ? 16

AERL ffEm & Siqia eifE w1 g 9 ' w6
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9. What are the different penalties that can be imposed under
the Income Tax Act ?

SR AE ® Al wE-9 fafiy= stefeve oo
S GRS 77
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10. Write short notes on the following :

(a) Best Judgement Assessment.
(b) Advance Payment of Tax.
(F) Feam fofa se-frufo|
(@) T HT AE PaF|
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